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Reading 1:
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct
answer to each of the questions.
First Man on the Moon

On July 16, 1969, America launched the Apollo 11, Lunar Landing Mission from Kennedy Space Center.
This was a 363-foot-tall space vehicle, the five engines of which on the Saturn V rocket generated 7.5 million
pounds of thrust. Twelve minutes after the launch, the astronauts were in orbit 120 miles above the Earth. [1] At
a speed of 17,400 mph, they began their four-day journey to the moon. [2] They had nearly a quarter of a
million miles to go.

On July 20, 1969, Neil Armstrong descended from the lunar module ladder. [3] Just prior to taking his first
step on the moon, Armstrong pilled on a special ring, causing a TV camera to automatically deploy. As he
stepped onto the moon’s surface he proclaimed, “That’s one small step for man, one giant leap for mankind.”
[4] However, Armstrong jnadvertently omitted the “a” before “man”. This error slightly changed the meaning
of what was to become known as Armstrong’s famous statement.

Question 1: What is this passage mainly about?
A. the first manned mission to the moon

B. how fast the rocket traveled

C. the first man in space

D. the reason Neil Armstrong is so famous

Question 2: The word “They” in the passage refers to
A. Apollo 11

B. astronauts

C. Americans

D. engines

Question 3: The word "deploy " in the passage is closest in meaning to
A. photograph

B. begin working

C. stop functioning

D. light up

Question 4: Which of the following is the best title for this passage?
A. The Life of Neil Armstrong

B. The History of Space Travel
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C. The Story of Apollo 11
D. The John F. Kennedy Space Center

Question 5: The word “proclaimed ” in the passage is closest in meaning to

A. thought

B. heard

C. remembered

D. announced

Question 6: It can be inferred that Armstrong's statement was important because
A. Neil Armstrong was a great speaker

B. this was the first time America had sent people into space

C. they were the first words to be spoken on the moon

D. the statement was spoken from the lunar module ladder

Question 7: Which is the best place for the following sentence? “He was about to make history.”
A. [1]

B. [2]

C. [3]

D. [4]

Question 8: The word “inadvertently” in the passage is closest in meaning to

A. mistakenly

B. interestingly

C. deliberately

D. cleverly

Question 9: The paragraph following the text would most likely discuss

A. the events that happened on July 21, 1969

B. the completely successful mission of Apollo 12

C. the pictures that the astronauts took on the Moon

D. how the omission of “a” changed the meaning of the statement

Question 10: Complete the summary below by choosing one sentence that expresses one of the most important
ideas in the passage. Summary: This passage discusses the Apollo 11 space mission. Apollo 11 was an
American spacecraft that took the first astronauts to the moon. Armstrong was the first man to step on the

moon.
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A. Apollo 11 was a large vehicle launched by a Saturn V rocket.

B. The journey to the moon took four days.

C. Armstrong made a meaningful mistake in his speech as he took his first steps.
D. A special ring caused a TV camera to begin operating.
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Reading 2:
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct
answer to each of the questions.

Glass is a remarkable substance made from the simplest raw materials. It can be colored or colorless,
monochrome or polychrome, transparent, translucent, or opaque. It is lightweight impermeable to liquids,
readily cleaned and reused, durable yet fragile, and often very beautiful Glass can be decorated in multiple
ways and its optical properties are exceptional. In all its myriad forms — as table ware, containers, in
architecture and design —glass represents a major achievement in the history of technological developments.

Since the Bronze Age about 3,000 B.C., glass has been used for making various kinds of objects. It was first
made from a mixture of silica, line and an alkali such as soda or potash, and these remained the basic
ingredients of glass until the development of lead glass in the seventeenth century. When heated, the mixture
becomes soft and malleable and can be formed by various techniques into a vast array of shapes and sizes. The
homogeneous mass thus formed by melting then cools to create glass, but in contrast to most materials formed
in this way (metals, for instance), glass lacks the crystalline structure normally associated with solids, and
instead retains the random molecular structure of a liquid. In effect, as molten glass cools, it progressively
stiffens until rigid, but does so without setting up a network of interlocking crystals customarily associated
with that process. This is why glass shatters so easily when dealt a blow. Why glass deteriorates over time,
especially when exposed to moisture, and why glassware must be slowly reheated and uniformly cooled after
manufacture to release internal stresses induced by uneven cooling.

Another unusual feature of glass is the manner in which its viscosity changes as it turns from a cold substance
into a hot, ductile liquid. Unlike metals that flow or “freeze” at specific temperatures glass progressively softens
as the temperature rises, going through varying stages of malleability until it flows like a thick syrup. Each stage
of malleability allows the glass to be manipulated into various forms, by different techniques, and if suddenly
cooled the object retains the shape achieved at that point. Glass is thus amenable to a greater number of heat-
forming techniques than most other materials.

Question 1: Why does the author list the characteristics of glass in paragraph 1?
A. To demonstrate how glass evolved

B. To show the versatility of glass

C. To explain glassmaking technology

D. To explain the purpose of each component of glass

Question 2: The word “durable in paragraph 1 is closest in meaningto_

A. lasting
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B. delicate
C. heavy
D. plain
Question 3: What does the author imply about the raw materials used to make glass?
A. They were the same for centuries.
B. They are liquid.
C. They are transparent.
D. They are very heavy.
Question 4: According to the passage, how is glass that has cooled and become rigid different from most other
rigid substances?
A. It has an interlocking crystal network.
B. It has an unusually low melting temperature.
C. It has varying physical properties.
D. It has a random molecular structure.
Question 5: The word “customarily” in paragraph 2 could best be replaced by ”
A. naturally
B. necessarily
C. usually
D. certainly
Question 6: The words “exposed t0” in paragraph 2 most likely mean
A. hardened by
B. chilled with
C. subjected to
D. deprived of
Question 7: What must be done to release the internal stresses that build up in glass products during
manufacture?
A. The glass must be reheated and evenly cooled.
B. The glass must be cooled quickly.
C. The glass must be kept moist until cooled.
D. The glass must be shaped to its desired form immediately
Question 8: The word “induced” in paragraph 2 is closest in meaning to

A. joined
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B. missed
C. caused
D. lost

Question 9: The word “it” in paragraph 3 refers to
A. feature

B. glass

C. manner

D. viscosity

Question 10: According to the passage, why can glass be more easily shaped into specific forms than can
metals

A. It resists breaking when heated

B. It has better optical properties.

C. It retains heat while its viscosity changes.
D. It gradually becomes softer as its temperature rises.
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Reading 3:
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct

answer to each of the questions.

Accustomed though we are to speaking of the films made before 1927 as “silent”, the film has never been, in
the full sense of the word, silent. From the very beginning, music was regarded as an indispensable
accompaniment; when the Lumiere films were shown at the first public film exhibition in the United States in
February 1896, they were accompanied by piano improvisations on popular tunes. At first, the music played
bore no special relationship to the films; an accompaniment of any kind was sufficient. Within a very short
time, however, the incongruity of playing lively music to a solemn film became apparent, and film pianists
began to take some care in matching their pieces to the mood of the film.

As movie theaters grew in number and importance, a violinist, and perhaps a cellist, would be added to the
pianist in certain cases, and in the larger movie theaters small orchestras were formed. For a number of years
the selection of music for each film program rested entirely in the hands of the conductor or leader of the
orchestra, and very often the principal qualification for holding such a position was not skill or taste so much as
the ownership of a large personal library of musical pieces. Since the conductor seldom saw the films until the
night before they were to be shown (if, indeed, the conductor was lucky enough to see them then), the musical
arrangement was normally improvised in the greatest hurry.

To help meet this difficulty, film distributing companies started the practice of publishing suggestions for
musical accompaniments. In 1909, for example, the Edison Company began issuing with their films such
indications of mood as “pleasant’, “sad”, “lively”. The suggestions became more explicit, and so emerged the
musical cue sheet containing indications of mood, the titles of suitable pieces of music, and precise directions to
show where one piece led into the next.

Certain films had music especially composed for them. The most famous of these early special scores was
that composed and arranged for D. W. Griffith’s film Birth of a Nation, which was released in 1915.

Question 1: The passage mainly discusses music that was

A. performed before the showing of a film

B. played during silent films

C. recorded during film exhibitions

D. specifically composed for certain movie theaters

Question 2: What can be inferred that the passage about the majority of films made after 19272
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A. They were truly “silent”.
B. They were accompanied by symphonic orchestras.

C. They incorporated the sound of the actors’ voices.

D. They corresponded to specific musical compositions.

Question 3: It can be inferred that orchestra conductors who worked in movie theaters needed to
A. be able to play many instruments

B. have pleasant voices

C. be familiar with a wide variety of music

D. be able to compose original music

Question 4: The word “them” refers to

A. years

B. hands

C. pieces

D. films

Question 5: According to the passage, what kind of business was the Edison Company?

A. It produced electricity.

B. It distributed films.

C. It published musical arrangements.

D. It made musical instruments.

Question 6: It may be inferred from the passage that the first musical cue sheets appeared around
A. 1896

B. 1909

C. 1915

D. 1927

Question 7: Which of the following notations is most likely to have been included on a musical cue sheet of the
early 1900's?

A. “Calm, peaceful”

B. “Piano, violin”

C. “Key of C major”

D. “Directed by D. W. Griffith”

Question 8: The word “composed” is closest in meaning to

9
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A. selected
B. combined
C. played

D. created

Question 9: The word “scores” most likely mean
A. totals

B. successes

C. groups of musicians

D. musical compositions

Question 10: The passage probably continues with a discussion of
A. other films directed by D. W. Griffith

B. famous composers of the early twentieth century
C. silent films by other directors
D. the music in Birth of a Nation

10
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Reading 4:
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct
answer to each of the questions.
Champagne, the king of wines and wine of kings, tastes all the better when it is drunk from an elegant, fine-
quality glass. That, however, is only one of thousands of ways glass is used today. And for all those different
uses, many different types of glass are produced. Glass products are manufactured in different ways. Today,
glass is blown by hand in the traditional way which the Roman first developed, but now this work is done by
robots, too. Generally, in industry, much faster methods of mass production are needed. Often, for example,
glass is pressed into the necessary shape by machine. Glass is shaped in other ways too. For example, it is made
into long, very thin fibres. Fibres like these are required to make the fibre-opitic cables that help to build the
information Super-Highway around the world.
Question 1: The phrase "the king of wines and wine of kings" means__
A. Champagne is the best wine of kings.
B. Champagne is the king that drinks lots of wine.
C. Champagne is the best wine and is made for kings
D. Champagne is the best wine made by kings.
Question 2: According to the passage,
A. the only way glass is used today is for drinking wine.
B. today glass is used in one thousand different ways.
C. an elegant, fine-quality glass makes champagne taste better.
D. champagne is drunk in thousands of ways.
Question 3: It can, be inferred from the passage that
A. the traditional way of blowing glass by hand is still in use today.
B. today the blowing of glass is all done by robots.
C. the Romans first developed methods of mass production.
D. the traditional way is no longer in use today.
Question 4: According to the passage, which of the following is correct?
A. Mass production of glass is done by robots.
B. Glass can be shaped in many different ways.
C. Inindustry glass is often shaped by machine.
D. Both Band C.

11
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Question 5: The passage primarily discusses
A. champagne, a kind of wine.
B. the uses of glass.

C. the types of glass products
D. the ways of making glass.

12
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Reading 5:
Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct
answer to each of the Questions from 56 to 60

It is commonly believed in the United States that school is where people go to get as education. Nevertheless,
it has been said that today children interrupt their education to go to school. The distinction between schooling
and education implied by this remark is important.

Education is much more open-ended and all-inclusive than schooling. Education knows no bounds. It can take
place where, whether in the shower or on the job, whether in a kitchen or on a tractor. It includes both the
formal learning that takes place in schools and the whole universe of informal learning. The agents of
education can range from a reserved grandparent to the people debating politics on the radio, from a child to a
distinguished scientist. Whereas schooling has certain predictability, education quite often produce surprise. A
change conversation with a stranger may lead a person to discover how little is know of other religions.

People are engaged in education from infancy on. Education, then, is a very broad, inclusive term. It is a
lifelong process, a process that starts long before the start of school and one that should be an integral part of
one’s entire life. Schooling, on the other hand, is a specific, formalized process, whose general pattern varies
little from one setting to the next. Throughout a country, children arrive at school at approximately the same
time, take assigned seats, are taught by an adult, use similar textbook, do homework, take exams, and so on. The
slices of reality that are to be learnt, whether they are the alphabet or an understanding of the workings of
government, have usually been limited by the boundaries of the subject being taught. For example, high school
students know that they are not likely to find out in their class the truth about political problems in their
communities or what the newest filmmakers are experimenting with. There are definite conditions surrounding
the formalized process of schooling.

Question 1: What does the author probably mean by using the expression “children interrupt their education to
go to school”?

A. Going to several different schools is educationally beneficial

B. School vacations interrupt the continuity of the school year.

C. Summer school makes the school year too long.

D. All of life is an education.

Question 2: the word “bounds” is closest in meaning to

A. rules

B. experiences

C. limits
13
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D. expectation
Question 3: the word “they” refers to

A. slices of reality

B. similar textbooks

C. boundaries

D. seats

Question 4: The passage supports which of the following conclusions?
A. Without formal education, people would remain ignorant

B. Education systems need to be radically reformed.

C. Going to school is only part of how people become educated.
D. Education involves many years of professional training.
Question 5: The passage is organized by

A. listing and discussing several educational problems

B. contrasting the meanings of two related words

C. narrating a story about excellent teachers

D. giving examples of different kinds of schools

14
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Reading 6:

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct
answer to each of the Questions from 51 to 55

Our demand for water is constantly increasing. Every year there are more and more people in the world.
Factories turn out more and more products and need more and more water. We live in a world of water. But
almost all of it — about 97%-is in the oceans. This water is too salty to be used for drinking, farming, and
manufacturing. Only about 3% of the world’s water is fresh. Most of this water is not easily available to man
because it is locked in glaciers and icecaps. There is as much water on earth today as there ever was or will
ever be. Most of the water we use finds its way to the oceans. There, it is evaporated by the sun. It then falls
back to the earth as rain.

Water is used and reused over again. It is never used up. Although the world as a whole has plenty of fresh
water, some regions have a water shortage. Rain does not fall evenly over the earth. Some regions are always
too dry, and others too wet. A. region that usually gets enough rain may suddenly have a serious dry spell and
another region may be flooded with too much rain.

Question 1: All of the following statements can be inferred from the text EXCEPT
A. We need more and more water.

B. The population of the world is increasing every year.

C. Most of the world’s water is locked in glaciers and icecaps.

D. Factories also need more water

Question 2: Which of the following is NOT true about the world’s water?

A. The vast majority of the world’s water is ocean (or salty) water.

B. Ocean water is salty enough to be used for drinking, farming, and manufacturing.
C. Most fresh water is locked in glaciers and icecaps.

D. The percentage of fresh water is very small.

Question 3: What can be inferred about water?

A. The amount of water on earth is always the same.

B. Water will probably be exhausted.

C. Water can be used once only.

D. Most of the water we use is not rain water.

Question 4: It can be inferred from the text that

A. no region in the world suffers from a lack of fresh water.

B. rain does not fall equally everywhere on earth.
15
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C. the world has plenty of fresh water in comparison with salty water.

D. a region that usually gets enough rain hardly ever has a dry spell.

Question 5: The phrasal verb “turn out” in the second line is closest in meaning to.
A. sell

B. prove to be

C. switch off

D. produce

16
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Reading 7:
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct
word for each of the blanks from 66 to 75.

The initial contact between American Indians and European settlers usually involved trade, whereby
Indians acquired tools and firearms and the Europeans obtained furs. These initial events usually pitted Indian
tribes against each other as they competed for the European trade and for the lands containing fur-producing
animals. When the furs had been depleted, the Europeans began a campaign to obtain the lands the Indians
occupied. The Indians often formed confederations and alliances to fight back the Europeans; however, the
Indians’ involvement in the white people’s wars usually disrupted these confederations. Indians resisted the
attempts by the whites to displace them. They fought defensive wars such as the Black Hawk War in 1832.
Indian uprisings also occurred, like the Sioux uprising in the 1860s.

Despite the resistance of the Indians, the Europeans were destined to win the conflict. After Indian
resistance was crushed, the whites legitimized the taking of Indian lands by proposing treaties, frequently
offering gifts to Indian chiefs to get them sign the treaties. Once an Indian group had signed a treaty, the whites
proceeded to remove them from their land. Often the Indians were forced west of the Mississippi into Indian
Territory-land the whites considered uninhabitable. If only a few Indians remained after the (15) conquest, they
were often absorbed by local tribes or forced onto reservations.

No aspect of American history is more poignant than the accounts of the forced removal of Indians across
the continent. As white settlers migrated farther west, Indians were forced to sign new treaties giving up the
lands earlier treaties had promised them. Some Indian tribes, realizing the futility of resistance, accepted their
fate and moved westward without force. The Winnebagos, who offered little (20) resistance, were shifted from
place to place between 1829 and 1866. About half of them perished during their perpetual sojourn. Other
tribes, however, bitterly resisted. The Seminoles signed a treaty in 1832 but violently resisted removal.
Hostilities broke out in 1835 and continued for seven years. The United States government lost nearly 1,500
men and spent over $50 million in its attempts to crush Seminole resistance. Most of Seminoles were eventually
forced to Indian Territory. However, several hundred remained in the Florida Everglades, where their
descendants live today.

Question 1: What does the passage mainly discuss?

A. Trade between American Indians and European settlers.
B. Conflict between American Indians and European settlers.
C. The diverse cultures of American Indian tribes.

D. Violation of treaties by white settlers.
17
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Question 2: What does the author mean by the phrase “pitted Indian tribes against each other”?
A. Trade with Europeans took place in public market pits.

B. Athletic events were popular with the Indian tribes.

C. Indians used European-made firearms in their shooting competitions.

D. Contact with Europeans caused opposition among Indian tribes.

Question 3: The word “legitimized (paragraph 2) is closest in meaning to
A. wrote to support

B. coordinated

C. encouraged

D. justified

Question 4: It can be concluded from the lines 10-12 that

A. Indian chiefs were easily bribed by economic offerings.

B. Europeans had greater military, political, and economic power than Indians.
C. Both Indians and Europeans wanted to end the conflict by signing treaties.
D. Europeans showed great speaking skill in their treaty proposals.

Question 5: The author makes the point that Indian Territory was

A. where a few Indians remained.

B. in the western part of Mississippi.

C. considered undesirable by European settlers.

D. where several battles between Indians and whites took place.

Question 6: According to the passage, which of the following did NOT happen?
A. Indians rebelled against European settlers.

B. Indians were forced to live on reservations.

C. Indian tribes formed alliances with other tribes.

D. Treaties allowed Indians to live where they wanted.

Question 7: In lines 16-18, the author implies that

A. many accounts of Indian removal are not true.

B. Indian removal was a shameful tragedy of American history.

C. Indian treaties and removal were minor events in American history

D. new treaties promised Indians more land than had the earlier treaties.

Question 8: The word “futility” could be best replaced by

18
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A. advantage
B. importance
C. expense
D. uselessness

Question 9: The word “perpetual” in paragraph3 is closest in meaning to

A. long-lasting

B. gradual

C. victorious

D. seasonal

Question 10: According to the passage, which tribe did NOT fight against removal?
A. Sioux

B. Seminole

C. Winnebago

D. Black Hawk

19
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Reading 8:
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct
word for each of the blanks from 46 to 55.

Fifty-five delegates representing all thirteen states except Rhode Island attended the Constitutional
Convention in Philadelphia from May to September 1787. The delegates had been instructed by the Continental
Congress to revise the old Articles of Confederation, but most believed that a stronger central government was
needed. There were differences, however, about what structure the government should take and how much
influence large states should have.

Virginia was by far the most populous state, with twice as many as people as New York, four times as many
as New Jersey, and ten times as many as Delaware. The leader of the Virginia delegation, James Madison, had
already drawn up a plan for government, which became known as the Large State Plan. Its essence was that
congressional representation would be based on population. It provided for two or more national executives.
The smaller states feared that underthis plan, a few large states would lord over the rest. New Jersey countered
with the Small State Plan. It provided for equal representation for all states in a national legislature and for a
single national executive. Angry debate, heightened by a stifling heat wave, led to deadlock.

A cooling of tempers seemed to come with lower temperatures. The delegates hammered out an agreement
known as the Great Compromise — actually a bundle of shrewd compromises. They decided that Congress
would consist of two houses. The larger states were granted representation based on population in the lower
house, the House of Representatives. The smaller states were given equal representation in the upper house, the
Senate, in which each state would have two senators regardless of population. It was also agreed that there
would be a single executive, the president. This critical compromise broke the logjam, and from then on,
success seemed within reach.

Question 1: What is the main topic of this passage?

A. James Madison’s plan to create a stable structure for the government of the United States

B. The differences in population and relative power between the original states

C. A disagreement at the Constitutional Convention and a subsequent compromise

D. The most important points of the Small State Plan

Question 2: According to the passage, how many states were represented at the Constitutional Convention?
A. Fourteen

B. Twelve

C. Thirteen

D. Fifty-five
20
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Question 3: It can be inferred from the passage that

A. Every state in the country is larger than Delaware
B. Delaware has no right at the Constitutional Convention

C. Virginia is ten times larger than Delaware

D. Delaware has a small population compared to other states

Question 4: It can be inferred from the passage that the Articles of Confederation

A. allowed small states to dominate large ones

B. provided for only a weak central government

C. were revised and presented as the Large State Plan

D. were supported by a majority of the delegates at the Convention

Question 5: According to the passage, in 1787 which of the following states had the FEWEST people?
A. New York

B. Delaware

C. New Jersey

D. Virginia

Question 6: In line 10, the phrase this plan (paragraph 2) refers to

A. a plan suggested by the national legislature

B. the Small State Plan

C. a compromise plan

D. the Large State Plan

Question 7: According to the passage, the weather had what effect on the Constitutional Convention?
A. Cold temperatures made Independence Hall an uncomfortable place to work

B. Hot weather intensified the debate while cooler weather brought compromise

C. Bad weather prevented some of the delegates from reaching Philadelphia

D. Delegates hurried to achieve an agreement before winter arrived

Question 8: The word shrewd (paragraph 3) is closest in meaning to

A. clever

B. unfair

C. important

D. practical

Question 9: Which of the following is NOT given in the passage as one of the provisions of the Great

Compromise?
21
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A. Each state would have two senators

B. Congress would be divided into two bodies

C. There would be only one national executive

D. The president would be elected by popular vote

Question 10: The author uses the phrase broke the logjam (paragraph 3) to indicate that
A. the Convention came to a sudden end

B. the situation had become desperate

C. the government was nearly bankrupt

D. some major problems had been solved

22
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Reading 9:
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct
answer to each of the questions.

The ocean bottom — a region nearly 2.5 times greater than the total land area of the Earth — is a vast frontier
that even today is largely unexplored and uncharted. Until about a century ago, the deep-ocean floor was
completely inaccessible, hidden beneath waters averaging over 3,600 meters deep. Totally without light and
subjected to intense pressures hundreds of times greater than at the Earth’s surface, the deep-ocean bottom is a
hostile environment to humans, in some ways as forbidding and remote as the void of outer space. Although
researchers have taken samples of deep-ocean rocks and sediments for over a century, the first detailed global
investigation of the ocean bottom did not actually start until 1968, with the beginning of the National Science
Foundation’s Deep Sea Drilling Project (DSDP).Using techniques first developed for the offshore oil and gas
industry, the DSDP’s drill ship, the Glomar Challenger, was able to maintain a steady position on the ocean’s
surface and drill in very deep waters, extracting samples of sediments and rock from the ocean floor.

The Glomar Challenger completed 96 voyages in a 15-year research program that ended in November 1983.
During this time, the vessel logged 600,000 kilometers and took almost 20,000 core samples of seabed
sediments and rocks at 624 drilling sites around the world. The Glomar Challenger’s core samples have allowed
geologists to reconstruct what the planet looked like hundred of millions of years ago and to calculate what it
will probably look like millions of years in the future. Today, largely on the strength of evidence gathered
during the Glomar Challenger’s voyages, nearly all earth scientists agree on the theories of plate tectonics and
continental drift that explain many of the geological processes that shape the Earth.

The cores of sediment drilled by the Glomar Challenger have also yielded information critical to
understanding the world’s past climates. Deep-ocean sediments provide a climatic record stretching back
hundreds of millions of years, because they are largely isolated from the mechanical erosion and the intense
chemical and biological activity that rapidly destroy much land-based evidence of past climates. This record has
already provided insights into the patterns and causes of past climatic change — information that may be used to
predict future climates.

Question 1: The author refers to the ocean bottom as a “frontier” in line 2 because it
A. is not a popular area for scientific research

B. contains a wide variety of life forms

C. attracts courageous explorers

D. is an unknown territory

uncharted. "
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Question 2: The word “inaccessible” in line 3 is closest in meaning to

A. unrecognizable
B. unreachable

C. unusable

D. unsafe

Question 3: The author mentions outer space in line 6 because

A. the Earth’s climate millions of years ago was similar to conditions in outer space.
B. it is similar to the ocean floor in being alien to the human environment

C. rock formations in outer space are similar to those found on the ocean floor
D. techniques used by scientists to explore outer space were similar to those used in ocean exploration
Question 4: Which of the following is true of the Glomar Challenger?

A. It is a type of submarine.

B. It is an ongoing project.

C. It has gone on over 100 voyages

D. It made its first DSDP voyage in 1968

Question 5: The word ” extracting ” in line 11 is closest in meaning to

A. breaking

B. locating

C. removing

D. analyzing

Question 6: The deep Sea Drilling Project was significant because it was

A. an attempt to find new sources of oil and gas

B. the first extensive exploration of the ocean bottom

C. composed of geologists form all over the world

D. funded entirely by the gas and oil industry

Question 7: The word ” strength * in line 17 is closest in meaning to

A. basis

B. purpose

C. discovery

D. endurance

Question 8: The word ” they ” in line 22 refers to

A. years
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B. climates

C. sediments
. cores

Question 9: Which of the following is NOT mentioned in the passage as being a result of the Deep Sea Drilling Project?
A. Geologists were able to determine the Earth’s appearance hundreds of millions of years ago.

B. Two geological theories became more widely accepted

C. Information was revealed about the Earth’s past climatic changes.

D. Geologists observed forms of marine life never before seen.
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Reading 10:
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct
answer to each of the questions.

Every drop of water in the ocean, even in the deepest parts, responds to the forces that create the tides. No
other force that affects the sea is so strong. Compared with the tides, the waves created by the wind are surface
movements felt no more than a hundred fathoms below the surface. The currents also seldom involve more than
the upper several hundred fathoms despite their impressive sweep.

The tides are a response of the waters of the ocean to the pull of the Moon and the more distant Sun. In
theory, there is a gravitational attraction between the water and even the outermost star of the universe. In
reality, however, the pull of remote stars is so slight as to be obliterated by the control of the Moon and, to a
lesser extent, the Sun.

Just as the Moon rises later each day by fifty minutes, on the average, so, in most places, the time of high
tide is correspondingly later each day. And as the Moon waxes and wanes in its monthly cycle, so the height of
the tide varies. The tidal movements are strongest when the Moon is a sliver in the sky, and when it is full.
These are the highest flood tides and the lowest ebb tides of the lunar month and are called the spring tides. At
these times the Sun, Moon, and Earth are nearly in line and the pull of the two heavenly bodies is added
together to bring the water high on the beaches, to send its surf upward against the sea cliffs, and to draw a high
tide into the harbors. Twice each month, at the quarters of the Moon, when the Sun, Moon and Earth lie at the
apexes of a triangular configuration and the pull of the Sun and Moon are opposed, the moderate tidal
movements called neap tides occur. Thenthe difference between high and low water is less than at any other
time during the month.

Question 1: What is the main point of the first paragraph?

A. The waves created by ocean currents are very large.

B. Despite the strength of the wind, it only moves surface water.

C. Deep ocean water is seldom affected by forces that move water.

D. The tides are the most powerful force to affect the movement of ocean water.
Question 2: The word “felt” in line 3 is closest in meaning to

A. based

B. dropped

C. detected

D. explored

Question 3: The words “In reality” in line 8§ are closest in meaning to
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A. surprisingly
B. actually
C. characteristically
D. similarly
Question 4: It can be inferred from the passage that the most important factor in determining how much
gravitational effect one object in space has on the tides is
A. size
B. distance
C. temperature
D. density
Question 5: The word “correspondingly” in line 11 is closest in meaning to
A. unpredictably
B. interestingly
C. similarly
D. unusually
Question 6: What is the cause of spring tides?
A. Seasonal changes in the weather
B. The gravitational pull of the Sun and the Moon when nearly in line with the Earth
C. The Earth’s movement around the Sun
D. The triangular arrangement of the Earth, Sun, and Moon
Question 7: The word “configuration” in line 18 is closest in meaning to
A. unit
B. center
C. surface
D. arrangement
Question 8: Neap tides occur when
A. the Sun counteracts the Moon’s gravitational attraction
B. the Moon is full
C. the Moon is farthest from the Sun
D. waves created by the wind combine with the Moon’s gravitational attraction
Question 9: According to the passage, all of the following statements about tides are true EXCEPT:

A. The time of high tide is later each day.
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B. Tides have a greater effect on the sea than waves do.
C. The strongest tides occur at the quarters of the Moon.

D. Neap tides are more moderate than spring tides.
Question 10: Where in the passage does the author mention movements of ocean water other than those caused

by tides?

A. Lines 2-5
B. Lines 10-11
C. Lines 12-13
D. Lines 17-20
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READING COMPREHENSION - KEY

Reading 1

Question 1: Pap an: A

Dap 4n 1a A. Dya vao tidu dé Reading viét, c6 thé chon duoc dap an nay.

Question 2: Pap an : B

Dap an la B. They = astronauts: cac phi hanh gia

Question 3: Pap an : B

Dap 4n 1a B. deply = begin working: trién khai, bat dau cong viéc

Question 4:

Pap an: C

Paép an 1a C. Question chuyén vé con tau vii tru mang tén Apollo 11. Dwa vao nhirng Question dau tién trong
bai, ta c6 thé chon duge dap an nay.

Question 5:

Dapan:D

Péap 4an 1a D. proclaim = announce: tuyén bd

Question 6:

bapan: C

Pap an 1a C. Question ndi ciia Armstrong quan trong vi d6 1a nhitng tir ngit dau tién duoc nodi trén mat Tring.
Question 7:

bapan: A

Dép 4n 1a A. At a speed of 17,400 mph, they began their four-day journey to the moon. (Véi tbc do 17.400mph,
ho bat dau chuyén hanh trinh 4 ngay 1én mit trang.)

Question 8:

bapan: A

Dép an la A. inadvertently = mistakenly: tinh co, v6 tinh

Question 9:

Dapan: D

Pap an 1a D.Dya ¥ cudi trong Reading: “However, Armstrong inadvertently omitted the “a” before “man”.
This error slightly changed the meaning of what was to become known as Armstrong’s famous statement.*
Question 10: Bap an: C

Dap an 1a C. Armstrong dd méc 13i rat y nghia trong Reading phat biéu cua 6ng khi 6ng budc chan dau tién ciia
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ong.

Reading 2:

Question 1: PBap an : B

Question 2: Pap an : A

A. bén lau; delicate: mong manh heavy: ning; plain: duy nhét/ chi

Question 3: Bap an : A

Poan 2: . ....in the seventeenth century : .....5 thé ki 17==> cling thé ki

Question 4:

Dapéan:D

Y cla Question hoi la: Theo doan van, thiy tinh ma dugc lam lanh va tré thanh thé ran khac nhu thé nao so véi
hau hét cac chét ligu khac.

Duya vao ndi dung doan 2: The homogeneous mass thus formed by melting then cools to create glass, but in
contrast to most materials formed in this way (metals, for instance), glass lacks the crystalline structure
normally associated with solids, and instead retains the random molecular structure of a liquid. (Khdi chit ma
duoc hinh thanh bang viéc nung chay sau d6 duoc lam lanh dé tao thuy tinh, nhung trai voi hau hét cac nguyén
lidu khac ciing duoc hinh thanh theo cach ndy (vi du nhu kim loai), thay tinh thiéu cdu tréc tinh thé thudong
duoc két hop véi thé ran, va thay vao do giit lai mot cach ngiu nhién cac phan tir cau tric cua thé 1ong.) --> D.
It has random molecular structure. (N6 c¢6 cau trac phan tir ngdu nhién) 1a dap an dung.

Question 5:

bapan: C

Question 6: Bap an: C

exposed to=subject to:tiép xtic Vi

Question 7: Bap an : A

Question 8: Pap an : C

induce : xui khien

Question 9: Pap an : B

Question 10 : - Pap an: D

Question 1: Pap an : B

Question 2: Pap an : C

Question 3: Pap an : C
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Question 4: Pap an :
Question 5: Pap an :
Question 6: Pap an :

Question 7: Pap an :

O >» m w O

Question 8: Pap an :
compose : tao nén
Question 9: Pap an : D
Question 10 : Pap an: D

Reading 4:

Question 1: Pap an: C

the king of wines and wine of kings = vua cua cac loai ruou

C. Sam panh 1a loai rugu tdt nhit va dugc san xuit ra cho cac ong vua

Question 2: Pap an : C

- Sentence: "Champagne, the king of wines and wine of kings, tastes all the better when it is drunk from an
elegant, fine-quality glass. "

Question 3: Bap an : A

- sentence: "That, however, is only one of thousands of ways glass is used today.... Today, glass is blown by
hand in the traditional way which the Roman first developed, but now this work is done by robots, too."
Question 4: Bap an: D

- sentences: "...glass is pressed into the necessary shape by machine. Glass is shaped in other ways too. "
Question 5:

bapan: B

Sentences: " however, is only one of thousands of ways glass is used today. And for all those different uses,

many different types of glass are produced."

Question 1: Bap an: D

"children interrupt their education to go to school" = tré em tu lam gian doan viéc hoc ciia minh dé duoc tu dén
truong => gido duc quan trong

Question 2: Pap an: C

bounds = gidi han
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A. quy luat
B. kinh nghi¢m
C. gi6i han
D. mong doi
Question 3: Pap an: A
Sentence: "The slices of reality that are to be learnt, whether they are the alphabet or an understanding of the
workings of government,..."
Question 4: Pap an : C
- paragraph2 content : Education is much more open-ended and all-inclusive than schooling.
- Paragraph 3 content: People are engaged in education from infancy on.
Question 5:
Dapan: B
- so sanh cung giai thich cac cum tir ¢ lién quan dén gido duc 1a "The distinction between schooling and

education implied by this remark is important.”

Question 1: Bap an: C

- Sentence include A,B,D: "Our demand for water is constantly increasing. Every year there are more and more
people in the world. Factories turn out more and more products and need more and more water"
Question 2:

bapan: B

Sentence :"This water is too salty to be used for drinking, farming, and manufacturing.” => not "enough”
nhu dap an B

Question 3: Bap an : A

Sentence: "There is as much water on earth today as there ever was or will ever be."

Question 4: Bap an : B

Sentence: "Rain does not fall evenly over the earth. "

Question 5: Pép an: D

turn out = to be present at an event = trinh bay

A. ban

B. chirng minh dugc

C. tat
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D. giéi thi€u, trinh bay
Question 1:
Dapéan: B
- sentence: "The initial contact between American Indians and European settlers usually involved trade,
whereby Indians acquired tools and firearms and the Europeans obtained furs. ™
Question 2:
Dapéan:D
pitted Indian tribes against each other = cudc do suc gilta cac b toc An PO véi nhau
D. Lién lac v6i Chau Au 1a nguyén nhan giy nén cudc doi dau gitta cac bd toc An Do
Question 3: Pap an: D
legitimized = hop phdp hoa
A. ho trg
B. phdi hop
C. khuyén khich
D. hop li, bi¢n minh
Question 4: Bap an : B
- Sentence: " Despite the resistance of the Indians, the Europeans were destined to win the conflict. After
Indian resistance was crushed, the whites legitimized the taking of Indian lands by proposing treaties,
frequently offering gifts to Indian chiefs to get them sign the treaties. Once an Indian group had signed a treaty,
the whites proceeded to remove them from their land. "
Question 5: Bap an: C
Sentence: "Often the Indians were forced west of the Mississippi into Indian Territory-land the whites
considered uninhabitable. 1f only a few Indians remained after the (15) conquest, they were often absorbed by
local tribes or forced onto reservations™
Question 6: Bap an : D
- Paragraph 2: ngiroi 4n do khong c6 quyén sdng theo ¥ ho mudén ma phai phu thudc phan 16n vao chau au
Question 7: Pép an: B
Sentence: "No aspect of American history is more poignant than the accounts of the forced removal of Indians
across the continent. As white settlers migrated farther west, Indians were forced to sign new treaties giving up

the lands..."
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Question 8: Pép an: D
futility = vo dung
A. thuan lgi
B. quan trong
C. chitiéu
D. vo dung
Question 9:
Dapan: A
perpetual = vinh vién
A. lau dai
B. dan dan
C. thing loi
D. theo mua
Question 10: Pap éan: C
- Sentence: "The Winnebagos, who offered little (20) resistance, were shifted from place to place between 1829
and 1866. About half of them perished during their perpetual sojourn. Other tribes, however, bitterly resisted.

The Seminoles signed a treaty in 1832 but violently resisted removal. ™

Question 1: Bap an: C

- paragraph 1: ...The delegates had been instructed by the Continental Congress to revise the old Articles of
Confederation, but most believed that a stronger central government was needed...

Question 2: Bap an : B

sentence: "Fifty-five delegates representing all thirteen states except Rhode Island attended the
Constitutional Convention "

Question 3: Bap an: D

Sentence: "Virginia was by far the most populous state, with twice as many as people as New York, four times
as many as New Jersey, and ten times as many as Delaware"

Question 4: Pap an: B

- Sentence: "The delegates had been instructed by the Continental Congress to revise the old Articles of
Confederation, but most believed that a stronger central government was needed. "

Question 5: Pap an: B
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- Sentence: "Virginia was by far the most populous state, with twice as many as people as New York, four times
as many as New Jersey, and ten times as many as Delaware. "
Question 6: Péap an : D
- Sentence: "The leader of the Virginia delegation, James Madison, had already drawn up a plan for
government, which became known as the Large State Plan. Its essence was that congressional representation
would be based on population. It provided for two or more national executives. The smaller states feared that
under this plan, "

Question 7: Pap 4n : B
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Sentences:"Angry debate, heightened by a stifling heat wave, led to deadlock. A cooling of tempers seemed to
come with lower temperatures. "
Question 8: Pap an: A
shrewd = thdng minh
A. thdng minh
B. thién vi
C. quan trong
D thuec té
Question 9: Pap 4n : D
-the provisions of the Great Compromise includes:
+ Congress would consist of two houses.
+ a single executive, the president.
Question 10: Pap an: D
broke the logjam = pha v& bé tic

D. mot vai van dé quan trong da duoc giai quyét

Reading 9:

Question 1: Bap an: D

Sentence: " ...total land area of the Earth — is a vast frontier that even today is largely unexplored and
Question 2: Bap an: B

inaccessible = khong thé tiép cin

A. khong nhan ra

B. khong véi téi

C. khong str dung dugc

D.khéng an toan

Question 3: Bap an : B

Sentence: " ....at the Earth’s surface, the deep-ocean bottom is a hostile environment to humans, in some ways
as forbidding and remote as the void of outer space. Although researchers have taken samples of deep-ocean
rocks and sediments for over a century, the first.."

Question 4: Pap an : D Sentence: "the first detailed global investigation of the ocean bottom did not actually
start until 1968, with the beginning of the National Science Foundation’s Deep Sea Drilling Project
(DSDP)....the DSDP’s drill ship, the Glomar Challenger, .."
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Question 5: Pap an: C
extracting = giai nén, lay ra
A. pha vo
B. dinh vi
C. roi di
D. phén tich
Question 6: Pap an: B
Sentence: "the first detailed global investigation of the ocean bottom did not actually start until 1968, with the
beginning of the National Science Foundation’s Deep Sea Drilling Project (DSDP)."
Question 7: Pap an: A
strength = tinh chic chin
A. nén tang, co s
B. muc dich
C. su kham pha
D.stc chiu dung
Question 8: Bap an : C
Sentence : "Deep-ocean sediments provide a climatic record stretching back hundreds of millions of years,
because they are largely isolated from the mechanical ..."
Question 9: Bap an : D

All information in paragraph 3

Reading 10:

Question 1: Bap an: D

Sentence: "Every drop of water in the ocean, even in the deepest parts, responds to the forces that create the
tides. No other force that affects the sea is so strong."

Question 2: Bap an: C

felt = do thy, cam thay

A. dua vao

B. chay xubng

C. kham pha, phat hién

D. kham ph4, tim toi

Question 3: Pap an: B
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In reality = thuc té Ia

A. Ngac nhién

B. thuc té

C. tinh cach dac biét

D. giong nhau

Question 4: Pap an : B

sentence: "The tides are a response of the waters of the ocean to the pull of the Moon and the more distant
Sun. "

Question 5: Pap an: C

correspondingly = tuong tng vdi

A. khong du doan duoc

B. khéng tha vi

C. gidng nhau

D. bat thuong

Question 6: Bap an : B

Sentence: ...the lowest ebb tides of the lunar month and are called the spring tides. At these times the Sun,
Moon, and Earth are nearly in line and the pull of the two heavenly bodies is added together to bring the water
high on the beaches, to send its surf upward against the sea cliffs, and to draw a high tide into the harbors."
Question 7: Bap an : D

configuration = cdu hinh

A. don vi

B. trung tam

C. mat dat

D. su sap xép

Question 8: Bap an : A

Sentence: "at the quarters of the Moon, when the Sun, Moon and Earth lie at the apexes of a

triangular configuration and the pull of the Sun and Moon are opposed, the moderate tidal movements called
neap tides occur."

Question 9: Pap an: C

- no information mention about it .

Question 10: Bap an: A
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Sentence: "Compared with the tides, the waves created by the wind are surface movements felt no more than a
hundred fathoms below the surface. The currents also seldom involve more than the upper several hundred

fathoms despite their impressive sweep.
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